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% # K - BARH A By ¥ B8 B ff & # =
BRI 18,480,000 + 853,216 19, 333, 216
BEEAGE 18, 480, 000
E#RE 853,216
T Ottt R AT 18,480,000 x 53.85% ( 35% = (1 — 35% ) ) 9,951, 480
e Ui 19,333,216 + 9,951,480 29, 284, 696
—REEEE 29,284,696 x 53.85% ( 35% = (1 — 35%) ) — 4,504 15, 765, 304
ES it 29,284,696 + 15,765, 304 45,050, 000
HEGEMALE 45,050,000 x 10.00% 4,505, 000
EBEAH 45,050,000 + 4,505, 000 49, 555, 000
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% # it - Bk R B 8 C & @ I
E R 19, 333, 216
LRSEEEREXEERBOREHRMORII 19,333,216
BT o RTRE E R
EESEREHELEBEBEORIEAH DRI 19,333,216
ISBY B RTREER
EEAGE 18, 480, 000
EEEEICHT HRTHEOLE 305, 400
| EERBICEYTARITHENILE 1.00 305, 400 305, 400
=
EEEBORIT 17,311, 600
2 BEOFHERVITERICEYT Sk 1.00 5, 406, 000 5, 406, 000
%5 .
=
3 BMEHEERICHET SMWIERS 1.00 7,867, 600 7,867, 600
=
4 B FRARICET SHIERT 1.00 4,038, 000 4,038, 000
=
EEXBOREAFORIED-HDHE( 504, 600
%) O
5 BEEEBHOREAEFDRILDI=HDTE 1.00 504, 600 504, 600
% (R) Ot .
=
Tae 307, 200
6 1At 12.00 25, 600 307, 200
[
75l - B 51,200
1 i - |E 2.00 25, 600 51,200
[
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EEEE 853,216
EHRARE 181,216
8 EBRAME 1.00 181,216 181,216

=
EBHEE 72,000
9 EBFHER 1.00 72,000 72,000

=
EBREPEENS S VERES 600, 000
10 XBEAEBHEENE S VEGEF 1.00 600, 000 600, 000
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L BEIEEFICET IHTHEDIE IEE1D)
% 73 R - BIRTiE BT = B Ol %5 5 &
A (A)
A 2.00 51, 200. 00 102, 400
A (B)
A 5.00 40, 600. 00 203, 000
& i E%82H : 1.00=% 305, 400. 00 305, 400
5:2
& BEOFERUITERICET XS IEEP
% 7 I - BIRTE BT = B Ol %5 5 =&
A (A)
A 2.50 51, 200. 00 128, 000
A (B)
A 130. 00 40, 600. 00 5,278, 000
& i E%82H : 1.00=% 5, 406, 000. 00 5, 406, 000
5:3
B R ERERICET AEELER IEED)
% 73 I - BIRTE BT = B Ol %5 5 &
A (A)
A 3.00 51, 200. 00 153, 600
A (B)
A 190. 00 40, 600. 00 7,714,000
& i E%82H : 1.00=% 7, 867, 600. 00 7, 867, 600
5:4
L F R IR AT IEEP
% 73 I - BIRTE BT = B Ol %5 5 &
A (A)
A 7.50 51, 200. 00 384, 000
A (B)
A 90. 00 40, 600. 00 3, 654, 000
& i E%82H : 1.00=% 4,038, 000. 00 4,038, 000
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H#E:5
B BEEEBROERREA ORIED=HDHRE (F) DR 14y
2 [ g - BIRTE v H = B ® 5 &
F1EBAR GEED
A 1.00 57,400. 00 57, 400
AR (A)
A 3.00 51, 200. 00 153, 600
AR (B)
A 4.00 40, 600. 00 162, 400
HAf (C)
A 4.00 32, 800. 00 131, 200
= g 1YEZHEH - 1.00K 504, 600. 00 504, 600
5:6
&M TEE HEED
2 [ g - BIRTE v H = B ® 5 &
AR (A)
A 0.50 51, 200. 00 25,600
= g YEZHER - 1.00[E 25, 600. 00 25,600
5:17
2 - & - |mE HEED
£ [ g - BIRTE :-vd H = B & % 5 &
AR (A)
A 0.50 51, 200. 00 25,600
= g 1YEZHER - 1.00[E 25, 600. 00 25,600
5:8
&% EHARE 14y
£ [ g - BIRTE :-vd H = B & % 5 &
EHARE
= 1.00 181, 216.00 181, 216
= g 1YE%HEH - 1.00K 181, 216.00 181, 216
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F5:9
2 EBHRR 14y
2 [ g - BIRTE By = B ) 5 &
EBHRRE
= 1.00 72,000. 00 72,000
= it 1YEZHEH - 1.00K 72,000. 00 72,000
&5 :10
&% XA EENS L VEGRES 14y
2 [ g - BIRTE By = B ) 5 &
PO YAY; 1.5L
=] 12.00 50, 000. 00 600, 000
= it 1YEZHEH - 1.00K 600, 000. 00 600, 000




